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10. 71 7 9o yolof A& oA L.

7} >

@ 100.48¢cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? @ 175.84cm?

~&B

(7t ¥<] Wol)= 9 x 9 x 3.14 = 254.34( cm?)
(4 ¥9] Yol)=5x5x3.14 = 78.5( cm?)
whebA = Ao HWolof A=

254.34 — 78.5 = 175.84( cm?) YUt}
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HE2]Eo] 8em ] 9] Yol E oA
8 x 8 x 3.14 = 200.96( cm?)

AE0] 8eml B Wol HAFo] 4cmo| B2
4x4x3.14 = 50.24( cm?)

200.96 = 50.24 = 40|82
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» E cm?

> A 153.86cm?

Ao Hx] &= 43.96+3.14+2=7
Blo]=7x7x3.14 = 153.86( cm?)
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Q9] ¥t go] Zgo] : [ ]

[ x[ ]x3.14 = 379.94( cm?)

[ x[ ]=379.94+3.14

[ Ix[ ]=121

[ ]=11(cm)

U1 11 x2x3.14 = 69.08( cm)
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18.

> HE 73.68cm

~&B

(=) = (Bdadd=a) + (
= (12x3) + (12 x 3.14)
= 36 + 37.68
— 73.68( cm)

4

%)




19. 99 &7} 31.4cm ¢ 9 @9 25.12em ¢ ¥ @7F 5UTE 9@
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» E: cm?

[> ®EHD 28.26.cm?

B \
(¥ @9 §tx]529 do])

=31.4+3.14+2=5(cm)

H @9 A F2 dol)

=25.12+3.14+2 =4(cm)

A @2 9 Qo Helol 2

=5x5x%x3.14-4x4x%x3.14

= 78.5 — 50.24 = 28.26( cm?)
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(I1x2x3.14)x4+7x%x2
= 6.28 x4+ 14 = 39.12(cm)




1apo] g wo] qajo] 2ot
o

1 mope)
A= g

o]
1

22. thg 1Y To|
48 ol
790] 5

B4

!

ul
)




23.

o
N
N
o
o,
Ho
)
ofll
=
1o
i
v
1o,
_>'i|‘
N
N
[\
o0
(@]
B
©
£
2
=

(Ho] =dl)-(HsHA 9 =)
=0x3.14-o0x3=28
O0x0.14 =28 02L&
0=28<0.14 = 20(cm)
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=3 A= 2 emGY71?
» = cm

> ®EHD 1413cm
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& HH =9 A=

(HFA] S )x2 x 3.14 = 45 x 2 x 3.14 = 282.6( cm)
o|BE sHH =7 A=

282.6 x 5 = 1413(cm) @Y},
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